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QUESTION 1

Which three tasks should be completed before starting the Financial Reporting Compliance implementation? (Choose
three.)

A. Migrate the organization\\'s existing risk and control matrix into Financial Reporting Compliance.

B. Complete control review and assessment for one period/cycle with the actual business owners.

C. Create a project plan with objectives, goals, and exit criteria.

D. Identify Financial Reporting Compliance users for everyday use, administration, and sustained use.

E. Plan to go-live with a simple scope and later expand the solution to include additional business units/
organizations/compliance frameworks.

Correct Answer: BDE

QUESTION 2

The GRC Business owner responsible for reviewing and investigating access incidents related to the "Order to Cash"
perspective does not see any worklists for the generated results. You have validated that:

1.

Other business owners are able to view their assigned worklists without any problem
2.

Incidents have been generated for the controls related to Order to Cash

3.

The business owner\\'s assigned roles contain the correct functional privileges and data access to the correct
perspective values

What is the reason the business owner cannot see any worklists for the generated incidents?
A. The Result Management Perspective Assignment has not been linked.

B. The underlying model is not linked to Order to Cash.

C. The business owner was recently assigned the role and the worklist needs to be refreshed.
D. Worklist assignment does not include the business owner.

E. The Control Perspectives are not linked to the control.

Correct Answer: D

QUESTION 3
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You have completed the data import process with no errors. You created process, risks, controls, and one perspective.
Controls were related to perspectives. You have provided the customer with the Control Manager security role. When
the customer logs in to Financials Risk Compliance (FRC), the customer cannot see any controls. Which step was
missed during the import process?

A. Data security policies for Controls were not created.

B. The Controls were not related to any risk objects.

C. The parent process was never approved.

D. The Control Method was not set to a valid value.

Correct Answer: D

QUESTION 4

Your client has configured separate roles for control assessor and control assessment reviewer. The control assessor
has submitted his or her assessment. The control assessor realizes later that he or she has forgotten to attach a critical
test evidence document to the assessment and needs to attach it now. How can this be accomplished?

A. The assessor can request the reviewer to attach the document during the review.

B. On the Assessment tab in the Control definition, the assessor can select the assessment and click the Complete
Assessment button. He or she can attach the document and resubmit the assessment.

C. The assessor can request the reviewer to reject the assessment. After the assessment is rejected, the assessor can
then attach the document and resubmit the assessment.

D. On the Manage Assessments page, the assessor can select the assessment and click the Reopen button. He or she
can then attach the document and resubmit the assessment.

Correct Answer: D

QUESTION 5

Which two filters must be combined to identify different suppliers who use the same taxpayer ID? (Choose two.)
A. Function filter grouping by "Supplier ID" where count is greater than 1.

B. Standard filter where the "Supplier" object\\'s "Supplier ID" is equal to itself.

C. Function filter grouping by "Taxpayer ID" where count is greater than 1.

D. Standard filter where the "Supplier" object\\'s "Allow Withholding Tax" is not blank.

E. Standard filter where the "Supplier" object\\'s "Taxpayer ID" is not blank.

Correct Answer: AE
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